MATH 221

Quiz 4 |

Problem 1 [3pt] Find a parametrization of a plane which contains the point P = (1,2,3) and the
vectors A = (1,0,1) and B = (0,1, —2) (these vectors are tangent to the plane).
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Problem 2 [5pts] Let A = [v;|va|vz|vs|vs] and suppose rref(A) = | 0 0 1 3 1 |. Given this
0 0 00O
data, answer the following questions:

(a.) is § = {v1,v2} a linearly independent set? If not then provide a linear dependence of the
vectors in S

By CCP \V, = =2V, henwe net LTI,

(b.) is § = {vy,v3,v5} a linearly independent set? If not then provide a linear dependence of the
vectors in §

Qa Cc? & = \/,.:-—\/3, hoviee wviet LT .

(c.) state the basis of the column space of A and find the dim(Col(A)).
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(d.) derive a basis for the solution set of Az = 0 where 2 = (1,23, 3,24, 25) and find the

dim(Null(A)).
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(e.) is [1,1,1,1,1] in Row(A)? (provide a short calculation to Support your claim) W

C?[I,-'Z.,D,ZII} +A[O, 0,(,?,/.7 = ["1 l, lr ’: ‘]



Problem 3 [2pts] Suppose t = s+ Tt and y =25 + 3t and z = 45 — ¢ parametrize some space in R3.

(a.) what type of space is this (a point, line, plane, volume ete...) 7
M i e ploce (Contibgy La0> f <R o>
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Clst)= 5,2, +2<3,32 -1

(b.) find the cartesian equation(s) of the space. How many equations in z,, z should we expect

are required?
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